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QUESTION 1

Which tool should the architect use in preparation for migration to Windows Server 2012 to determine application
compatibility and suitability for virtualization? 

A. AppDNA 

B. App-V Sequencer 

C. EdgeSight for End Points 

D. Windows Upgrade Advisor 

Correct Answer: A 

 

QUESTION 2

Scenario: 

Each XenServer host has four 10GB network cards - two bonded for storage and management separated by separate
VLAN, and the two bonded for guest VM networks. The CIO would like to see network traffic distributed across all links
to maximize their utilization. Switches to which the Hypervisors will connect to support 802.3ad. 

How should the architect configure the guest VM network? 

A. Using active-active bonding 

B. Using active-passive bonding 

C. Using XenSever MPIO redundancy 

D. Using LACP bonding 

Correct Answer: B 

 

QUESTION 3

Scenario: 

A Citrix Architect is asked to design a new external access architecture for CGE. The regional datacenters have
NetScaler appliances delivering load-balancing services. Security policy mandates that these internal appliances
CANNOT connect to the DMZ. 

Why is the configuration of a callback URL needed? 

A. It authenticates end users to Active Directory. 

B. It allows for pass-through authentication to StoreFront. 

C. It validates the SSL certificate on the client device. 
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D. It allows for STA communication to the NetScaler. 

Correct Answer: A 

 

QUESTION 4

A Citrix Architect recommends that the SAP and Office Suite images be consolidated into a single image. Which two
factors helped guide the architect\\'s recommendation? (Choose two.) 

A. A reduction in Hotfix testing time 

B. CGE\\'s planned upgrade to Microsoft Office 2013 

C. The use of both applications by all CGE end users 

D. End-user complaints about slow application launch times 

Correct Answer: CD 

 

QUESTION 5

An architect needs to design a solution that optimizes resource usage for Call Center users. How do server OS
machines achieve this goal? 

A. By offering optimal performance 

B. By providing rapid application rollouts 

C. By ensuring the greatest security level by design 

D. By accommodating high user density on each server 

Correct Answer: D 
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